
1. The element indium exists naturally as two isotopes.  113In has a mass of 112.9043 amu, and 115In has a mass of 114.9041 amu.  The average atomic mass of indium is 114.82 amu.  Calculate the %relative abundance of the two isotopes.



2. Naturally occurring sulfur consists of four isotopes, 32S (95.0%), 33S (0.76%), 34S (4.22%), and 36S (0.014%).  Using the data below, calculate the atomic mass of the naturally occurring Sulfur.
			Isotope:				Atomic Mass (amu): 
			32S						31.97
33S 						32.97
34S 						33.97
36S						35.97

3. Given the information below for the fictional element Laurium (L), calculate the relative atomic mass of Laurium, and report your answer with correct units and the correct number of significant figures.

	Isotope 
	Mass (amu) 
	Natural Abundance (%) 

	54L 
	53.992               
	26.46 

	56L 
	55.989               
	73.54 









4. Bromine has two naturally occurring isotopes.  Bromine-79 has a mass of 78.918 amu and is 50.69% abundant.  Using the atomic mass reported in the periodic table, determine the mass of bromine-81, the other isotope of bromine.
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1.(16pts) Fill in the blank boxes.

Symbol #of Protons | # ofNeutrons | # of Electrons Net Charge

3,52

17 18

15 16 18

#1Na

2. (8pts) Name the experiment that produced these results and identify the scientist responsible. Discuss
the following points: a) What do the arrows represent? (straight and bent) b) What was unexpected
about the experiment? Why? c) Finally, what two discoveries about the atom did these results?

3.(6pts) Draw the Gold Foil Experiment and label its parts.
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9. (3pts) Label the diagram below. a) What experiment does it depict!

10, (5pts) (3)dentity the slentist who conducted the experiment picured above. 5) Based on the
diagram above, explain what cuses the beam t curve upwards? Be specfic. Draw and labe the model of
the stom that was developed based on the discoveries from this experiment.

1. Calculate the average atomic mass oftheelement Slion. SHOW ALL WORK. Remember units and
sigificant figures. (8 pints)
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